/ Quiz 1.1 — Average Rate of Change

1. {1 pi} atfredLibrary'& UCKchapier 1lesson/quiziquestiond p2
Suppose that the graph of the function y = f(x) passes through
the points {-2,9) and (—1,4). On the inemval [-2,-1],
the net change in x is Ax =
the netchange inyis Ay=_—__ and

the average rate of change in yis Ayfix =

2. {1 pl} abredLibrary/AUCchaplerlesson/quiz/questions. ps
Let 5(¢) be the amount of sakes in dollars by a small business
during the ¢-th week afer January 1. Suppose sales on January
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1 were 9666 dollars and sales 6 weeks laer were 5496 dollars.
Compute the follewing over the time interval [0,6]. Ener the
units by typing the full words or phrases (e.g., feet per second).

(a) fus = Units?
(b) AS = Units?
(C) AS /L = Units?

(d) Use the average rate of change in part (c) to estimate the
sales during the 4thweek after January 1. That is, estimake 5(4).

5{4) ms Units?



